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I 3 1 ┘  
 

I  
 
[ 1] 
 

pH 1  
 

A 37°C  
 

Kw = [H3O+][OH–] = 2.5 × 10–14 mol2/L2 
 

pH  
 

B 37°C 1.0 × 10–7 mol/L HCl pH  
 

C B pH 6
 

 
D KH2PO4 K2HPO4 pH7.40, 4.0 

× 10–3 mol/L KH2PO4 K2HPO4 mol/L
よ  

 
H2PO4

– + H2O = HPO4
2– + H3O+  Ka2 = 7.5 × 10–8 
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よ  

 
A 4 ┘ 2
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(1)   
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(3)  ㈻  
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B  
 

よ  
AgCl 25°C よ 1.0 × 10–5 mol/L よ

0.001 mol/L NaCl AgCl よ ゝ  
 

C  
 

よ

 
BaSO4 25°C よ 1.0 × 10–5 0.01 mol/L 

KNO3 BaSO4 よ ゝ Ba + SO4
2-

オ Debye-Hückel ゝ  
 
            0.51Zi

2
µ  

 – log fi =   
              1 + µ  
 

fi Zi µ  
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